FOM 12 5.3 — Probabilities Using Counting Methods

Example 1: Four people (A, B, C, D) are going to line up. If the line-up is randomly generated,
what is the probability that person D is first?
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Example 2: Ten names are written on slips of paper and placed in a hat. Roger will win a prize if
his name is drawn. Three names are to be drawn out at random. What is the probability that
Roger wins?
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Example 3: Beau hosts a morning show in Saskatoon. To advertise his show, he is holding a
contest at a local mall. He spells out SASKATCHEWAN with scrabble tiles, Thephe turns the tiles
face down and mixes them up. He asks Sally to arrange the tiles in a row and turn them face up.
If the row of tiles spells SASKATCHEWAN, Sally will win a new car. Determine the probability
that Sally will win the car.
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Example 4: There are 18 bikes in Marnie’s spinning class. The bikes are arranged in 3 rows, with 6 bikes
in each row. Allison, Brett, Carol, Doug, Erica, and Franco each call the gym to reserve a bike. They hope
to be in the same row, but they cannot request a specific bike. Determine the probability that all 6
friends will be in the same row with Allison and Franco at either end.
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